ESEARAER/ < R R ox e

PEEK/S ey | L
——

EHET g Size (mm) EHRT g Size (mm)

Part Number M DK K S Part Number M DK K S

04000S0025045006 M2.5x6 45 243 205 04000S0060100060 M6x60 10 5.85 5.08
04000S0025045008 M2.5x8 45 243 205 04000S0060100065 M6x65 10 5.85 5.08
04000S0025045010 M2.5x10 4.5 243 2.05 04000S0080125010 M8x10 13 7.82 6.08
04000S0025045012 M2.5x12 45 243 205 04000S0080125012 M8x12 13 7.82 6.08
04000S0030050006 M3x6 55 293 255 04000S0080125016 M8x16 13 7.82 6.08
04000S0030030008 M3x8 55 293 255 04000S0080125020 M8x20 13 7.82 6.08
04000S0030050010 M3x10 293 255 04000S0080125025 M8x25 13 7.82 6.08
04000S0030050012 M3x12 293 255 04000S0080125030 M8x30 13 7.82 6.08
04000S0030050016 M3x16 293 255 04000S0080125035 M8x35 13 7.82 6.08
04000S0030050020 M3x20 293 255 04000S0080125040 M8x40 13 7.82 6.08
04000S0030050025 M3x25 293 255 04000S0080125045 M8x45 13 7.82 6.08
04000S0040070006 M4x6 391 3.05 04000S0080125050 M8x50 13 7.82 6.08
04000S0040070008 M4x8 391 3.05 04000S0080125060 M8x60 13 7.82 6.08
04000S0040070010 M4x10 391 3.05 04000S0080125065 M8x65 13 7.82 6.08
04000S0040070012 M4x12 391 3.05 04000S0080125070 M8x70 13 7.82 6.08
04000S0040070016 M4x16 391 3.05 04000S0080125080 M8x80 13 7.82 6.08
04000S0040070020 M4x20 391 3.05 04000S0080125090 M8x90 13 7.82 6.08
04000S0040070025 M4x25 391 3.05 04000S0080125100 M8x100 13 7.82 6.08
04000S0040070030 M4x30 391 3.05 04000S0100150020 M10x20 16 9.82 8.1
04000S0040070035 M4x35 391 3.05 04000S0100150025 M10x25 16 9.82 8.1
04000S0050080006 M5x6 491 406 04000S0100150030 M10x30 16 9.82 8.1
04000S0050080008 M5x8 491 406  04000S0100150040 M10x40 16 9.82 8.1
04000S0050080010 M5x10 491 406 04000S0100150045 M10x45 16 9.82 8.1
04000S0050080012 M5x12 491 406 04000S0100150050 M10x50 16 9.82 8.1
04000S0050080016 M5x16 491 406  04000S0100150055 M10x55 16 9.82 8.1
04000S0050080020 M5x20 491 406 04000S0100150060 M10x60 16 9.82 8.1
04000S0050080025 M5x25 491 406  04000S0100150065 M10x65 16 9.82 8.1
04000S0050080030 M5x30 491 406  04000S0100150070 M10x70 16 9.82 8.1
04000S0050080035 M5x35 491 406  04000S0100150100 M10x10C 16 9.82 8.1
04000S0050080040 M5x40 491 406 04000S0100150110 M10x11C 16 9.82 8.1
04000S0050080050 M5x50 491 406  04000S0120175025 M12x25 17.87 11.79 10.1
04000S0050080060 M5x60 491 406  04000S50120175030 M12x30 17.87 11.79 10.1

CO 0O OO CO OO OO OO OO OO OO OO OO Ul Ul U1 U1 UL
U'IU'IU'IU'IU'IU'IU'IU'IU'IU'IU'IU'I\I\I\I\‘\I\I\I\‘\‘U'IU'IU'IU'IU'I

04000S0060100006 M6x6 10 585 508 04000S0120175035 M12x35 17.87 11.79 10.1
04000S0060100008 M6x8 10 585 5.08 0400050120175040 M12x40 17.87 11.79 101
04000S0060100010 M6x10 10 585 508 04000S0120175045 M12x45 17.87 11.79 10.1
04000S0060100012 M6x12 10 585 5.08  04000S0120175050 M12x50 17.87 11.79 10.1
04000S0060100016 M6x16 10 585 5.08  04000S0120175055 M12x55 17.87 11.79 10.1
04000S0060100020 M6x20 10 585 508 04000S0120175060 M12x60 17.87 11.79 10.1
04000S0060100025 M6x25 10 585 5.08  04000S0120175065 M12x65 17.87 11.79 10.1
04000S0060100030 M6x30 10 585 5.08  04000S0120175070 M12x70 17.87 11.79 10.1
04000S0060100035 M6x35 10 585 508  04000S0120175080 M12x80 17.87 11.79 10.1
04000S0060100040 M6x40 10 585 5.08  04000S0120175090 M12x90 17.87 11.79 10.1
04000S0060100045 M6x45 10 585 5.08  04000S0120175100 M12x10C 17.87 11.79 10.1
04000S0060100050 M6x50 10 585 508 04000S0120175110 M12x110 17.87 11.79 101

Wr#EFR7 BIENLASE



	Sheet3

